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Dinsdag:
	HD
	TD
	D
	H
	T
	E

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


13 514 + 8 497 = _________________	100 000 – 24 762 = ________________
	HD
	TD
	D
	H
	T
	E

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	





+

-





Woensdag:
	HD
	TD
	D
	H
	T
	E

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


16 541 + 13 517 = _________________	75 238 + 24 762 = ________________
	HD
	TD
	D
	H
	T
	E

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	









Wiskunde: huiswerk herhaling cijferend  optellen en aftrekken

naam____________________________		nummer_________

Donderdag:

	HD
	TD
	D
	H
	T
	E

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


13 514 - 8 497 = _________________	75 238 - 24 762 = ________________
	HD
	TD
	D
	H
	T
	E

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	











Vrijdag:
	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


65 432 + 24 688 = _________________	96 303  - 24 688 = ________________











